AJOvD | Z8 5 7T B El g AR IAREEI A
EY A O1—0 | O2—0 2 0 0 6 3 0 3 1
JIER @0—1 @0—3 0 0 2 0 0 4 | a1 3
T @0—2 | 0O3—-0 1 0 1 3 3 2 1 2
BJOvo | itk X7 17 B Gl g e ETAETAREEANRRA
ftaE @0—3 | @1—2 0 0 2 0 1 5 [ 41 3
+X=F 03—-0 02—-0 2 0 0 6 5 0 5 1
1—=7>] O2—1 | @0—2 1 0 1 3 2 3 | -1 2
CJOvs |hilEHT] it TE B Ell g FEE ETAEIAREEI A
hilEH- 02—1 03—-0 2 0 0 6 5 1 4 1
it @12 A1—1 0 1 1 1 2 3 -1 2
4B ®0—3 [ A1—1 0 1 1 1 1 4 -3 3
DJOvZ | Kkih EETE a7l & El 2] FEE YA EIAEEI R
puN: ] A2—2 | A0—0 0 2 0 2 2 2 0 2
#HE A2—2 04—0 1 1 0 4 6 2 4 1
==K A0—O0 | @0—4 0 1 1 1 0 4 | 41 3
B b—F A B
K3 b—F AVF L —F A MER
B F
1-7
| 1-1(PK3-1) | | 1-7
R TEEE 48 ==F il
TEfE 45
| 2-1 |
TEEE
Y2 b—F Ak 2SI b—F A MERE
A—=7v
1-0
| 0-3 | 1-2 |
i aA—=7v icg(1TB] KHh
il GiyIIEL
0-1
FEqldt
K1 b—F Ak &2 B
PlEEHT=
0-1
0-0PK(3-2) | 1-0 |
3 +XF LB HT= [
+x%F I
1-1(PK2-3) |

I



